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[111] 6.741,000 | THAtS=2
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[545] 5,011,000 | JIEHIH &k
5,011,000 [ 1. I = OT A=
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[20] 11,455,000 | SXNHLAUIZAZ2 3 >
[75] 11,455,000 | X225
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31-85-852 : A USLHSNSIL-FRUHIIL-SA28II200X233 %
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S0l 22 D20 OAY HEAY 2 42 20174 A= 20184 H=(B) |=2(C=B-A) |ZEE
(& ] 1,597.810 1,597,810 1524.726  A73.084 A48
060 1,597.810 1,597,810 1.524.726  A73.084 A48
Ssuan
063 1,418,418 1,435,912 1,438,935 3,023 0.2
e
5100 400,908 400,908 369.173  A31.735 A7.9
MEHSSAH
5161 163,845 163,845 172,838 8993 55
MBS 243
302 77,286 77,286 75,329 A1057 A25
MEHs Z20
320 43,569 43,569 39,993 A3576 A82
0I2ko| &
320-01 43,569 43,569 39,993 A3576 A82
DIt A E
330 33,717 33,717 35,336 1,619 4.8
XFXI €7 0] &
330-01 33,717 33,717 35,336 1,619 4.8
=S e
305 8,021 8,021 9,733 1,712 21.3
ENERE
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o1 21 bl
110-04 201 201 0 A201 =2
ugoz
210 1,413 1,413 0 A1413 =2
2oy
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st A 2 Y|
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EE
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SOFRE DRIY OAANY HEAY 2 A 20174 AE 2018\ M= (B) |E2(C=B-A) | T
320 45 45 7.688 7643 17,006
oI2ko| &
320-01 0 0 7,688 7688 ==
DIt AEE
320-09 45 45 0 A45 =2
e
330 5,740 5,740 2,045 A3,695 A64.4
XFXI € H 0] &
330-01 5,740 5,740 2,045 A3,695 A64.4
= B ES
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S8 XA
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2oy
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O|i|,E
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JVESCH L XX
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SOFE2 D208 HAY MBEAY 2 A2 20174 A= 20184 H=(B) |=2(C=B-A) |ZEE
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2oy
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oI2hol &
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AZXE X
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460-01 7,000 7,000 10,000 3,000 42.9
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